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SA - ZE . BR() - HRAR - BES of v G o HIDE2
AL TH24 10 12,749,540 23,424,120 10,674,580
= 1,000,000
[ 5,260,000
= 1,926,000
Al 4,563,540
KEobse TADIEE 24 10,406,800 20,540,480 210,133,680
= 1,000,000
[ 3,717,000
= 1,729,000
Al 3,960,800
SAITH AL 10,309,000 20,397,480 10,088,480
= 1,000,000
= 3,717,000
= 1,729,000
Al 3,863,000
A2 3 = 500,000 500,000
401 AlZHIZ SO 500,000 500,000
01 A28l 500,000 500,000
CAHNEAE 2028 =8 89 S 180,000
02035 ZAAI SAIHEEEH S ~8HEN 350,000
SAITHMEXIZHE 2 22,300 142,500 120,200
201 er23 | 22,300 22,500 A200
01 At2teltl 6,300 4,500 1,800
O] AX=2 (M) 1,620
OHle SALEA, MFE8E S 225 7l 2,880
OX2dE 20188 =4 1,800
2 35244l 16,000 18,000 22,000
OXIBME, BRME OHA(HA,AE) &D|
=L, Ste S 16,000
CANY=EANSUS 68,700 68,700 0
= 10,000
Al 58,700
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Al 24,000
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Al 24,000
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= 8,000
Al 24,000
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201 Ler23| 16,000 14,800 1,200
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202 04| 5,000 5,000
01 =LHO LI 5,000 5,000
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OEAIMEAIE &I, S8, =23 S 39,000
202 0o4dl 4,800 4,800
01 =LHNHI 4,800 4,800
OFANY 2elge =4 4,800
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01 Al&HI 45,000 75,000 230,000
OZAIMEAIZEZE 272 FH 45,000
=& 244 & 2 2,323,000 2,863,500 540,500
[ 1,543,000
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Al 583,000
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= 1,543,000
[ 197,000
Al 583,000
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el Ms28dst =2 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 100,000
Al 500,000
Al dISHME0S 900,000 900,000 0
& 150,000
Al 750,000
307 212+01™ 900,000 900,000 0
T 150,000
Al 750,000
02 QIZHAAAIHE X 900,000 900,000 0
O34l M= (x=S)sHdM=s70U3 280,000
= 50,000
Al 230,000
O34t M=2(ZS)s8=20U3 300,000
& 50,000
Al 250,000
O34t M=2(1sS)sM=220U3 320,000
T 50,000
Al 270,000
DA BI= =01l 0t EM 2 220,000 220,000 0
= 120,000
Al 100,000
307 2I2+01A 220,000 220,000 0
& 120,000
Al 100,000
02 QIZHBAAIEE R 220,000 220,000 0
OZLtMetE d=eletelitetE 2l 220,000
& 120,000
Al 100,000
DA EIS EI3E AU 260,000 300,000 40,000
= 60,000
Al 200,000
307 QIZ2t01 A 260,000 300,000 240,000
= 60,000
Al 200,000
02 QIZHAAAIEER 260,000 300,000 240,000
OZLMSHZHH S HEIZEE DI 260,000
& 60,000
Al 200,000
T2 FINE K& 100,000 96,000 4,000
307 212+01™ 100,000 96,000 4,000
02 QIZHAAAIHE X 100,000 96,000 4,000
OE=2Z)| ¥ &322 Z4DH=E X3 100,000
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M MsdE
el dsgds =4 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 30,000
Al 180,000
307 lztol & 210,000 120,000 90,000
= 30,000
Al 180,000
02 2IZHBYAIHE X 210,000 120,000 90,000
O ARES T (KPGA) 120,000
= 20,000
Al 100,000
OTZM2EZS S| (KLPGA) 90,000
< 10,000
Al 80,000
H=ZZHSPHEIXIE 80,000 80,000 0
= 10,000
Al 70,000
307 el2to| & 80,000 80,000 0
= 10,000
Al 70,000
02 QIZtEHAEE X 80,000 80,000 0
OX= s SEU3 HEXJ (=) 80,000
s 10,000
Al 70,000
H=EH 2 CHRIOHEI X2 80,000 80,000 0
& 40,000
Al 40,000
307 elztol & 80,000 80,000 0
= 40,000
Al 40,000
02 2B YAIAE £ 80,000 80,000 0
OMEtSH &= HAE el 80,000
= 40,000
Al 40,000
=M & d=0Hal izl X 225,260 184,000 41,260
101 e124d| 75,260 34,000 41,260
M ORNZZ2NSE S 75,260 34,000 41,260
O=M ¥ d=03 HRE2x 35,560
OUaizl 218 fldae| Y 39,700
201 er2 3| 50,000 50,000
03 A= SHI 50,000 50,000
O=Hl - =03 Mzl =H & 2 X 50,000
401 AlZHIZ SO 100,000 100,000
04 AR2E AIEHI 100,000 100,000
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| O=H-®2308 g 21 2 22 100,000
A= AZEZCH0IUUHS 130,000 150,000 /20,000
= 30,000
Al 100,000
307 212t01 & 130,000 150,000 20,000
= 30,000
Al 100,000
02 QIRHEAAIHE X 130,000 150,000 20,000
OdIAZ=Ze0|2L S 130,000
= 30,000
Al 100,000
HIHAUHHZ2MEHE 36,000 40,000 A4,000
= 6,000
Al 30,000
307 I12t0| & 36,000 40,000 4,000
= 6,000
Al 30,000
02 QIRHEAAIHE X 36,000 40,000 A4,000
O ZEHA0 02 Z NS 36,000
= 6,000
Al 30,000
TAMBSHE M =HHECIE S 50,000 40,000 10,000
= 30,000
Al 20,000
307 212t01 & 50,000 40,000 10,000
T 30,000
Al 20,000
02 QIZHAAAEE X 50,000 40,000 10,000
OZ4h M2t HRHSSIE )8l 50,000
s 30,000
Al 20,000
TS E=Z 00 60,000 50,000 10,000
= 30,000
Al 30,000
307 212t01 & 60,000 50,000 10,000
T 30,000
Al 30,000
02 QIZHALAIH 2L 60,000 50,000 10,000
OB MBSt ®=20I043] 60,000
& 30,000
Al 30,000
TAMEHSD] H=SRRA0RUE 20,000 20,000 0
= 8,000
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=S 8,000
Al 12,000
02 QB AANSEER 20,000 20,000 0
O AMet=a)| =322 02 20,000
< 8,000
Al 12,000
INRE k=1D) ES DAL 497,000 272,000 225,000
= 246,500
Al 250,500
307 el2tol & 497,000 272,000 225,000
= 246,500
Al 250,500
02 QItASAIEE X 497,000 272,000 225,000
OZ&AIEL HESE ¢ 14,500
== 7,000
Al 7,500
O EMAH == 7,500
== 5,000
Al 2,500
OZ A MEISHE 2730 d= =Sstw OF
e 24,000
=S 10,000
Al 14,000
OLlSE =228 FAEF7U 15,000
< 5,000
Al 10,000
OZAMEtSHE d= BA U= 17,000
= 8,500
Al 8,500
Oz eSS H =202 17,000
== 10,000
Al 7,000
O EH ZMAE S =S 10,000
= 5,000
Al 5,000
OZ Al MEtSHl =X ==l 8,000
= 4,000
Al 4,000
O At MetSH S5 702 40,000
[ 20,000
Al 20,000




A MEdSW
JH: MsdE
SE RS
RA - I BRA(E) - HRA - BES of vy A
Ozetee S8ie =2l 30,000
= 15,000
Al 15,000
OT &AL AHEFSHE 50,600 S22 &= &
CHal 35,000
S 15,000
Al 20,000
OzZatMetsSHl 202 EH=BE=2E g
FEIHIC Buetd 35,000
== 20,000
Al 15,000
OZAAIBHA =S S| EHH e =02l 20,000
S 10,000
Al 10,000
OzZadIciy SZ3 20,000
< 10,000
Al 10,000
OMEtSHl dSdEMs Sl 20,000
= 10,000
Al 10,000
OT &AL AfEFSHE ZATHE 20,000
S 10,000
Al 10,000
OMEt=H Z4&tAl S5 FRU3E 25,000
= 10,000
Al 15,000
OT &AL Otel=Hl &2l 8,000
= 4,000
Al 4,000
OTAAIEH 850! =S 6,000
[ 3,000
Al 3,000
OMEtSHl d=Z0Hl=ellial 12,000
== 6,000
Al 6,000
OMEt=H B=02 20,000
S 10,000
Al 10,000
OZ A ERHUSEH A= 2 20,000
= 10,000
Al 10,000
OZAMEtSH S50 ZUE 10,000
= 5,000
Al 5,000
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2A: Msas
u: FSxS
&el: Ms2dst =40 (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SAE MEHSK A IXI(ESXIH) 31,457 30,688 769
| 15,728
Al 15,729
307 212+01™ 31,457 30,688 769
J| 15,728
Al 15,729
02 QIZHEAAHE X 31,457 30,688 769
OsAYE MEHSXNEA BIXIALY 31,457
| 15,728
Al 15,729
HEXMEYFXI =X X (ESK) 220,200 214,816 5,384
| 110,100
Al 110,100
307 212+01 A 220,200 214,816 5,384
| 110,100
Al 110,100
02 QIZtAAAIEE R 220,200 214,816 5,384
ONZ24 MEHSXEA BEXIALS 220,200
J| 110,100
Al 110,100
ZHOHR! XM KIS A BHXIAL 187,812 183,168 4,644
| 93,906
& 46,953
Al 46,953
307 2I2+01™ 187,812 183,168 4,644
| 93,906
& 46,953
Al 46,953
02 QIZHBAAIE E R 187,812 183,168 4,644
OXFOHel MEMFXNEZA HIXIAL 187,812
J| 93,906
T 46,953
Al 46,953
METs ZEXSA A 38,500 38,500 0
& 11,550
Al 26,950
307 212+01™ 38,500 38,500 0
T 11,550
Al 26,950
02 QIZHBAAIEER 38,500 38,500 0
OMENs HEXTA AFS 38,500
= 11,550
Al 26,950
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FAUEL
Sxs
sadst =4 SR
SA - B BRA(SH) - HRA - of v G o HIDE2
AEXSEHAZ 50,000 0 50,000
= 20,000
Al 30,000
307 el2to| & 50,000 0 50,000
= 20,000
Al 30,000
02 QIZtEHAEE X 50,000 0 50,000
OZMANAEZXZY 22X 50,000
s 20,000
Al 30,000
Hsol=et A= 7,867,595 11,556,000 A3,688,405
Jl 500,000
=S 1,650,000
Al 5,717,595
SSHEAIE Q22 F 300,000 1,451,000 A1,151,000
401 Al HIZL R 0HHI 300,000 1,451,000 A1,151,000
01 Al&HI 300,000 1,451,000 A1,151,000
OM=33 & A4 100,000
OLEH=SA U 200,000
STUEAERH (S0 17,595 17,595
308 AXIHMSOIA 17,595 17,595
08 wEJ| 20 Het 2 17,595 17,595
OZ4ISstu StuMS 17,595
72 orRIEsII+ A4 150,000 205,000 55,000
401 Al HIZ R 0HbI 150,000 205,000 55,000
01 AlZ8| 150,000 205,000 55,000
ootlesil+ &4 150,000
Nzt SEHSHEH HE 4,900,000 9,900,000 /5,000,000
S 900,000
Al 4,000,000
401 AIZHIZ SO 4,900,000 9,900,000 /5,000,000
= 900,000
Al 4,000,000
01 Al&H| 4,695,062 9,173,000 N4,477,938
OAMTU=ENFHEH HE A 4,695,062
= 900,000
Al 3,79%,062
02 2/l 204,938 727,000 A522,062
OMZUSEHSHE 28 204,938
SSHSAIE HE* 1,000,000 0 1,000,000
Il 500,000
Al 500,000
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1
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A HSAIED
T ARIS 9B HSeTet 24
Rl MsAE 2g % 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 3,000 0 3,000
OOFIAIECCTV 2LIE 7Y 3,000
OFIMISAIE 22t 226,500 219,500 7,000
201 er23y| 89,000 89,000 0
01 AtR2t2|HI 9,000 9,000 0
OO0IAMEAIE 282 9,000
02 s3=gHl 80,000 80,000 0
OO0IMEAIE S52= 50,000
OALHBERIESE Al = X2l 15,000
OOCIAMSAIE AIEEH| =&t 15,000
202 04dl 1,500 1,500
01 =LHNHI 1,500 1,500
OOt2MSAIE 2822 : =N 1,500
206 M=l 9,000 9,000
01 MHZH| 9,000 9,000
OOt AIE 2I1E ARE 72 7,000
OAUBIERIEE JIH, &IOS 7 2,000
307 elztol & 82,000 82,000
05 21t S 82,000 82,000
OAU=EY A4S 82,000
401 AlZHIZ S OHbI 45,000 38,000 7,000
01 A28l 45,000 38,000 7,000
OOCIAMEAIE ZBAMES EF-SAt 25,000
OO MFAIE M= 20,000
=3 22 706,002 753,783 AN47,781
101 @124H| 438,732 409,800 28,932
M ORIMZZ2NSE S 438,732 409,800 28,932
O=gXcXt 218 03,815
OF=&d MR E 2Y 243,576
O+=g& HEL AR 91,341
201 =3 158,300 150,013 8,287
01 At22t2lt] 158,300 180,013 8,287
OEg+3d HEHA X 108,200
O=2% HEA Z28 X2l 3,000
Ox=gd & 8A=0E KA 8,000
O+=&% 289 ARl 15,000
O=gd 28 HI+==2 20,000
O=gZA #E & NI UI=H| 4,100
202 04l 6.720 6.720
01 =LHA LI 6,720 6,720
O=gd 232 g2 = 6,720
206 MH=H| 20,250 20,250
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